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1

A B C D

A A. A B.

B C. H2CO3

CO2 C D. D

2

A H2O B C. HI D.

B HF H++F A. H2O

A B. K+ B C. HI

H+ C D. H+ HS

D

3 2CO(g) + 2NO(g) 2CO2(g) + N2(g) ΔH= 748.6 kJ·mol 1
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A

B

C

D

A ΔH<0 A.

A B.

B C. C D.

D
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C

D

C A.

A B. B C.

C D.

D
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A B FeSO4 Fe

C D

B A. NH4+ A B. FeSO4

Fe Fe2+ B C. Al3+

Al(OH)3 C D. CO32

+H2O HCO3 +OH CO32 Ba2+
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BaCO3 c(OH ) D

6

A AlCl3 B FeSO4 C Na2CO3 D KHSO3

C A. AlCl3 Al(OH)3 HCl HCl

A B. FeSO4

Fe2(SO4)3 B C. Na2CO3 NaOH

C D.KHSO3 KHSO4

KHSO4 D

7 Na2S2O3+H2SO4=Na2SO4+SO2↑+S↓+H2O,

/
Na2S2O3 H2SO4 H2O

V/mL c/ mol·L 1 V/mL c/ mol·L 1 V/mL

A 25 5 0.1 10 0.1 5

B 25 5 0.2 5 0.2 10

C 35 5 0.1 10 0.1 5

D 35 5 0.2 5 0.2 10

D 20mL D Na2S2O3

D D

8 E 1 mol

H H F F H F H Cl H I

E/(kJ·mol 1 ) 436 157 568 432 298

A 432 > E(H Br) > 298 B H2(g) + F2(g)===2HF(g) ΔH 25 kJ·mol 1

C H F D HI(g) → H(g) + I(g) ΔH +298 kJ·mol 1

ΔH

B A. E(H Cl) =432kJ·mol 1 E(H I) =298kJ·mol 1 E(H I)<E(H
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Br)<E(H Cl) A B. ΔH E(H H)+E(F F) 2E(H F) 543 kJ·mol
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11 NaOH HCl 3:2 pH 13

A 0.50mol·L 1 B 0.05mol·L 1 C 0.017mol·L 1 D 0.01mol·L 1

pH

A pH=13 pH

c(OH ) NaOH HCl c 3V 2V 3 2( ) 0.1 /
3 2
Vc Vcc OH mol L
V V

 
 



c(NaOH)=c(HCl)=0.50mol·L 1 A

12 N2(g) H2(g) NH3(g)

A I B N2 H2 NH3

C NH(g)+2H(g) NH3(g) ∆H= 849kJ·mol 1 D

C A. I A B. II

1molN(g)+3molH(g) 1molNH(g)+2mol(g) B C.NH(g)+2H(g) NH3(g)

III+ IV ∆H= 849kJ·mol 1 C D.

D

13 N2(g)+3H2(g) 2NH3(g) ∆H= akJ·mol 1 E1

E2

A N2 H2 NH3

B a = E2 E1

C N2
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D 1molN2(g) 3molH2(g) akJ

D A.

A B. a = E2 E1 B C.

C D. 1molN2(g)

3molH2(g) 2molNH3(g) akJ D

14

pH 11 11 3 3

A pH

B c(CH3COO )>c(Na+)>c(H+)>c(OH )

C c(H+)=c(OH )

D 10 pH > > >

pH

D A. NH3 H2O c(OH

) pH NH4+ OH NH3 H2O c(OH )

pH A B. CH3COOH CH3COONa

CH3COOH B C.

C D. 10 pH

pH pH > > > D

15

A

B AlCl3 NaF

Al3+ F

C 2mL 0.1mol·L 1 AgNO3 0.1mol·L 1NaCl
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0.1mol·L 1NaI Ksp(AgCl)> Ksp(AgI)

D FeCl3 FeCl3

C A. A

B. c(Al3+) c3(OH

)<Ksp[Al(OH)3] B C. 0.1mol·L 1NaCl

AgNO3 0.1mol·L 1NaI AgCl

AgI C D. FeCl3 FeCl3 D

16 0.1 mol·L 1 NaOH 10 mL 0.1 mol·L 1 HA

A a≈3 HA

B b d d > b

C c c(Na )=c(A )

D d c(A )>c(Na )>c(OH )>c(H )

D A. a≈3 0.1 mol·L 1 HA pH=3 HA A B. b

HA NaA d NaA d > b B C. c

c(Na )+c(H )=c(A )+c(OH ) c(Na )=c(A ) C D.d NaA

A c(Na )>c(A )>c(OH )>c(H ) D

17 CO2(g) 3H2(g) CH3OH(g) H2O(g) ΔH<0 T1

2 L 1 molCO2 3molH2 5min

CO2 20%

A

B 5min v(H2)=0.06 mol·L−1·min−1

C T2 CO2 10% T1>T2

D 1 molCO2 3molH2 CO2 20%

48
1
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B A. K= 25
1728

A B. 5min CO2

20% 0.2mol H2 0.6mol v(H2)=0.06 mol·L−1·min−1 B C.

T2 CO2 10% T2 T1<T2

C D. 1 molCO2 3molH2 CO2

D

18 (CdS)
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5 58

19 8

1 KOH

__________

2 Al2(SO4)3 NaHCO3 __________

3 (Be) 1 g

62. 70 kJ

Be(s)+
2
1

O2(g)===BeO(s) ∆H=________kJ·mol 1

4 FeCl3

pH=5 c(Fe3+)=__________mol·L 1 Ksp[Fe(OH)3]= 4.0×10 38

1

2

3

4 pH=5

20 10 25

CH3COOH HF H2C2O4

1.8×10 5 3.5×10 4 Ka1=5.9×10 2

Ka2=6.5×10 5
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a

b

pH

2

1 __________

2 H2C2O4 __________

3 pH CH3COOH HF

pH

c(HF)_____0.01mol·L 1 > = <

a b c(CH3COO−)_____c(F−) > = <

4 CH3COOH __________

a b

c c(H+)·c(OH−) d

5 0.1mol·L 1

a. CH3COONa b. NaF c. Na2C2O4 d. NaHC2O4

pH __________( )

1

2

3 pH pH pH

pH

c(CH3COO−) c(F−)

4 c(H+) c(CH3COO−) c(CH3COOH)

COOH)(CH
 )COOCH()(H

3

3

c
cc 
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5 Na2C2O4 .NaHC2O4 HC2O4−

H2C2O4

21. 10 Cr2O72

I Cr(OH)SO4 Cr(OH)SO4

Cr2O72 Cr3 Cu2 Fe3 Cr(OH)SO4·nH2O

[c(Mn+)=0.1mol·L 1] pH

pH

Fe3+ 1.4 3.0

Cu2+ 4.2 6.7

Cr3+ 4.0 6.8

1 Cr3 Ag+ Cr2O72

Cr3 + S2O82 + Cr2O72 + SO42 +

2 Cr3+ Cr2O72 __________

3 pH __________

4 Cr(OH)SO4 Cr(OH)SO4·nH2O ___________

__________

II Cr(OH)3

Fe Cr2O72

5 B __________

__________

6 Cr2O72 Cr(OH)3

Cr2O72

Cr3+ ___________

H+
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Cr(OH)3 Fe(OH)3

Cr2O72 Cr(OH)SO4·nH2O Cr(OH)3

I

Cr3 Cr2O72 pH Cr3

Cr(OH)SO4 Cr(OH)SO4·nH2O

II

Fe2+, Cr2O72 Fe3+ H+

Fe3 Fe OH 3.

22 14

1 (H3PO2) NaH2PO2 _________

NaH2PO2 c(Na+) c(H2PO2 ) =

2 (H3PO3) 25 Ka1=1.0×10 2 Ka2=2.6×10 7

NaH2PO3 Kh=________ NaH2PO3 ________

3 (H3PO4)

c(Na ) = 3[ __________ + c(HPO42 ) + c(H2PO4 ) + __________ ]

_________
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4 25.00mL

0.10 mol·L 1

5H3PO3 + 2MnO4 + 6H+ = 5H3PO4 + 2Mn2+ + 3H2O

1 0.60 22.50

2 1.50 23.60

3 1.80 21.80

__________mol·L 1

__________

a

b

c

1 NaH2PO2 NaH2PO2

c(Na+) c(H2PO2 )

2 H2PO32-

3 (H3PO4)

Na3PO4
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H5P3O10

Na5P3O10

4

23 13

1

(a)

1mol H2_____L

__________

2 CH3CH2OH(g) CH3CHO(g) +H2(g) ∆H

CH3CH2OH(g) CH3CHO(g) H2(g)
∆H/(kJ·mol 1) 1366.8 1166.4 285.8

∆H=__________kJ·mol 1

3

n( ) (t/h) (p/MPa)

(b)

p1MPa 0 1.5h

mol·h 1

p2MPa Kp _____MPa ×

4

Cu (c)
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240 CH3CHO ________

280 ________

ΔH

“

”

1

2

3 a p2

Kp

4 240

280


